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3. (D) Let the length of good train = x m
A.T.Q,
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 250 + x = 520  x = 270.
\ Length of goods train = 270 m
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a2 = 1  a = 1

a + 1 = 2  a = 1
Hence a = 1
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41. (C) a2 + 13b2 + c2 – 4ab – 6bc = 0

 a2 + 4b2 – 4ab + 9b2 + c2 – 6bc = 0
 (a – 2b)2 + (3b – c2) = 0
 a – 2b = 0 and  3b – c = 0


a

b
= 2 and 

b

c
 = 

1

3
a : b : c = 2 : 1 : 3

44. (C) x = 0.25 = 0.5, y = (0.4)2 = 1.6

z = 3 0.216  = 0.6

\ y > z > x
50. (D) (2, 0, 0)
57. (B) Let cost price of 1 article = `1

A.T.Q,
Selling price of x articles = `20

Cost price of x articles =
20 100

125


= `16

\ Number of articles = 16
91. (D) No error.
92. (A) Remove 'more' before lonelier. As

'lonelier' is already a comparative
degree.

95. (B) 'Common' = shared by more than one
'Mutual' = Having the same relationship
with each other.
eg = They were mutual enemies.
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